

KDRV 1090 KNUTSON AVE MEDFORD, OR 97504

Thematic Campaigns 111 W ILLINOIS ST CHICAGO, IL 60654-4505

Schedule Dates 05/15/24-05/21/24 **Advertiser** Agency Product **Brand** Salesperson

64309

Contract #

Sales Office

Buyer Name

Phone/Fax

CPE

Friends of Tobias Read (5949) Thematic Campaigns (2728) Political - Candidates (1151) Primary Election (27980) Katz Chicago, Katz Chicago (1014)

Katz Chicago Embro, Corissa N/A National/Political Candidate - Agency

Account Types Billing Type Calendar

Comments

Date Entered 05/14/24 **Last Modified** 05/14/24

Stephanie Coppedge **Entered By**

No CO-OP

External # Demo

Order Type Normal

Package Deal

Commission % 15.00 Commission \$1,076.25 Net Total \$6,098.75

Date:

Comments:

Sales Tax

Medford ABC (KDRV)

Spots

93

93

<u>Rate</u>

\$7,175.00

\$7,175.00

By Calendar Month

May. 2024

Grand Total:

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
1.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	5A- 6A (PST)	2			Х	Х	Х			2	\$35.00	\$70.00	Medford ABC (KDRV)	5am News	5/14/24
2.0	Normal Line / SPOT	05/20/24-05/21/24	5	:30	5A- 6A (PST)	1	Х	Х						1	\$35.00	\$35.00	Medford ABC (KDRV)	5am News	5/14/24
3.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	7A- 8A (PST)								1	1	\$40.00	\$40.00	Medford ABC (KDRV)	GMA Sunday	5/14/24
4.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	9A- 10A (PST)								1	1	\$50.00	\$50.00	Medford ABC (KDRV)	This Week	5/14/24
5.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	6A- 7A (PST)	4			Х	Х	Х			4	\$75.00	\$300.00	Medford ABC (KDRV)	6am News	5/14/24
6.0	Normal Line / SPOT	05/20/24-05/21/24	5	:30	6A- 7A (PST)	1	Х	Х						1	\$75.00	\$75.00	Medford ABC (KDRV)	6am News	5/14/24
7.0	Normal Line / SPOT	05/18/24-05/18/24	5	:30	7A- 8A (PST)							1		1	\$40.00	\$40.00	Medford ABC (KDRV)	GMA Saturday	5/14/24
8.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	7A- 9A (PST)	8			Х	Х	Х			8	\$65.00	\$520.00	Medford ABC (KDRV)	GMA	5/14/24
9.0	Normal Line / SPOT	05/20/24-05/21/24	5	:30	7A- 9A (PST)	2	Х	Х						2	\$65.00	\$130.00	Medford ABC (KDRV)	GMA	5/14/24
10.0	Normal Line / SPOT	05/18/24-05/18/24	5	:30	8A- 9A (PST)	1						Х		1	\$65.00	\$65.00	Medford ABC (KDRV)	Weekend Newswatch	5/14/24
11.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	12P- 1P (PST)	1			Х	Х	Х			1	\$50.00	\$50.00	Medford ABC (KDRV)	GMA3	5/14/24
12.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	2P- 3P (PST)	2			Х	Х	Х			2	\$20.00	\$40.00	Medford ABC (KDRV)	Judge Judy	5/14/24
13.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	2P- 3P (PST)	1	Х							1	\$20.00	\$20.00	Medford ABC (KDRV)	Judge Judy	5/14/24
		_			CON	FIF	RM	ΑT	10	N ($\mathbb{C}^{\mathbb{C}}$	DN.	TR	RAC	Т				

KDRV/KDKF does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race, ethnicity or gender.

Accepted-Station:

Date:

B/E Bookend P/B Piggy Back

Accepted-Agency/Advertiser:

Printed At: 03:15 PM on Tuesday, May 14 2024



KDRV 1090 KNUTSON AVE MEDFORD, OR 97504

Thematic Campaigns 111 W ILLINOIS ST CHICAGO, IL 60654-4505 Contract # **Schedule Dates**

Advertiser

Agency

Product

Salesperson

Sales Office

Buyer Name

Brand

64309 05/15/24-05/21/24

Friends of Tobias Read (5949)

Thematic Campaigns (2728) Political - Candidates (1151)

Primary Election (27980) Katz Chicago, Katz Chicago (1014)

Katz Chicago Embro,Corissa

Phone/Fax CPE N/A

Account Types National/Political Candidate - Agency

Billing Type Calendar

Comments

Date Entered 05/14/24 **Last Modified** 05/14/24

Stephanie Coppedge **Entered By** No

CO-OP External #

Demo Order Type

Normal

Package Deal

Commission % 15.00

Commission \$1,076.25 Net Total \$6,098.75

Sales Tax

Medford ABC (KDRV) By Calendar Month Spots 5 <u>Rate</u> May. 2024 \$7,175.00 Grand Total: 93 \$7,175.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
14.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	10A- 11A (PST)	2			Х	Х	Х			2	\$35.00	\$70.00	Medford ABC (KDRV)	The View	5/14/24
15.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	10A- 11A (PST)		1							1	\$35.00	\$35.00	Medford ABC (KDRV)	The View	5/14/24
16.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	9A- 10A (PST)				1	1	1			3	\$35.00	\$105.00	Medford ABC (KDRV)	Live with Kelly & Mark	5/14/24
17.0	Normal Line / SPOT	05/20/24-05/21/24	5	:30	9A- 10A (PST)	1	Х	Х						1	\$35.00	\$35.00	Medford ABC (KDRV)	Live with Kelly & Mark	5/14/24
18.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	11A- 12P (PST)				1	1	1			3	\$40.00	\$120.00	Medford ABC (KDRV)	Midday News	5/14/24
19.0	Normal Line / SPOT	05/20/24-05/21/24	5	:30	11A- 12P (PST)	1	Х	Х						1	\$40.00	\$40.00	Medford ABC (KDRV)	Midday News	5/14/24
20.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	3P- 4P (PST)	2			Х	Х	Х			2	\$35.00	\$70.00	Medford ABC (KDRV)	Funny You Should Ask	5/14/24
21.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	3P- 4P (PST)		1							1	\$35.00	\$35.00	Medford ABC (KDRV)	Funny You Should Ask	5/14/24
22.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	4P- 5P (PST)								1	1	\$40.00	\$40.00	Medford ABC (KDRV)	Judge Judy Wknd	5/14/24
23.0	Normal Line / SPOT	05/18/24-05/18/24	5	:30	6P- 6:30P (PST)							1		1	\$80.00	\$80.00	Medford ABC (KDRV)	6pm News Sat	5/14/24
24.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	6P- 7P (PST)	8			Х	Х	Х			8	\$125.00	\$1,000.00	Medford ABC (KDRV)	6pm News	5/14/24
25.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	6P- 7P (PST)		2							2	\$125.00	\$250.00	Medford ABC (KDRV)	6pm News	5/14/24
26.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	6P- 6:30P (PST)								1	1	\$95.00	\$95.00	Medford ABC (KDRV)	6pm News Sun	5/14/24
27.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	5P- 5:30P (PST)	4			Х	Х	Х			4	\$160.00	\$640.00	Medford ABC (KDRV)	5pm News	5/14/24

CONFIRMATION CONTRACT Date: Accepted-Agency/Advertiser: Date: Accepted-Station: Comments:

KDRV/KDKF does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race, ethnicity or gender.



KDRV 1090 KNUTSON AVE MEDFORD, OR 97504

Thematic Campaigns 111 W ILLINOIS ST CHICAGO, IL 60654-4505 Contract # **Schedule Dates**

64309 05/15/24-05/21/24

Advertiser Friends of Tobias Read (5949)

Agency Thematic Campaigns (2728) Product Political - Candidates (1151) **Brand** Primary Election (27980)

Salesperson Katz Chicago, Katz Chicago (1014) Sales Office Katz Chicago

Embro,Corissa **Buyer Name** Phone/Fax CPE N/A

Account Types National/Political Candidate - Agency

Billing Type Calendar

Comments

Date Entered 05/14/24 **Last Modified** 05/14/24

Stephanie Coppedge **Entered By**

CO-OP No

Demo

External #

Order Type Normal Package Deal

Commission % 15.00

Commission \$1,076.25 **Net Total** \$6,098.75

Sales Tax

Medford ABC (KDRV) By Calendar Month Spots 5 <u>Rate</u> May. 2024 \$7,175.00 Grand Total: 93 \$7,175.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa	Su	Spots	Rate	Total	Station	Comments	Entered
28.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	5P- 5:30P (PST)		1							1	\$160.00	\$160.00	Medford ABC (KDRV)	5pm News	5/14/24
29.0	Normal Line / SPOT	05/18/24-05/18/24	5	:30	7P- 8P (PST)							1		1	\$35.00	\$35.00	Medford ABC (KDRV)	Jeopardy/Wheel	5/14/24
30.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	7:30P- 8P (PST)	4			Х	Х	Х			4	\$120.00	\$480.00	Medford ABC (KDRV)	Wheel	5/14/24
31.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	7:30P- 8P (PST)		1							1	\$120.00	\$120.00	Medford ABC (KDRV)	Wheel	5/14/24
32.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	7P- 7:30P (PST)	4			Х	Х	Х			4	\$120.00	\$480.00	Medford ABC (KDRV)	Jeopardy	5/14/24
33.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	7P- 7:30P (PST)		1							1	\$120.00	\$120.00	Medford ABC (KDRV)	Jeopardy	5/14/24
34.0	Normal Line / SPOT	05/16/24-05/16/24	5	:30	9P- 10P (PST)					1				1	\$200.00	\$200.00	Medford ABC (KDRV)	Grey's Anatomy	5/14/24
35.0	Normal Line / SPOT	05/17/24-05/17/24	5	:30	9P- 11P (PST)						1			1	\$80.00	\$80.00	Medford ABC (KDRV)	20/20	5/14/24
36.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	8P- 11P (PST)								2	2	\$160.00	\$320.00	Medford ABC (KDRV)	American Idol	5/14/24
37.0	Normal Line / SPOT	05/16/24-05/16/24	5	:30	8P- 9P (PST)					1				1	\$160.00	\$160.00	Medford ABC (KDRV)	9-1-1	5/14/24
38.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	7P- 8P (PST)								1	1	\$120.00	\$120.00	Medford ABC (KDRV)	AFHV	5/14/24
39.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	5P- 8P (PST)								1	1	\$160.00	\$160.00	Medford ABC (KDRV)	American Idol Live	5/14/24
40.0	Normal Line / SPOT	05/18/24-05/18/24	5	:30	11P- 11:30P (PST)							1		1	\$50.00	\$50.00	Medford ABC (KDRV)	Late News	5/14/24
41.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	11P- 11:30P (PST)	6			Х	Х	Х			6	\$55.00	\$330.00	Medford ABC (KDRV)	Late News	5/14/24

CONFIRMATION CONTRACT Date: Accepted-Agency/Advertiser: Date: Accepted-Station: Comments:

KDRV/KDKF does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race, ethnicity or gender.

NEWS WATCH	KDD)/	Contract # Schedule Dates Advertiser	64309 05/15/24-05/21/24 Friends of Tobias Read (5949)	Date Entered Last Modified Entered By	05/14/24 05/14/24 Stephanie Coppedge
abo	KDRV 1090 KNUTSON AVE MEDFORD. OR 97504	Agency	Thematic Campaigns (2728) Political - Candidates (1151)	CO-OP External #	No Scephanic Coppedge
▶ kdrv.com	MEDI GRE, GRE 07001	Brand Salesperson	Primary Election (27980)	Demo Order Type	Normal
Thomatic Compaigns	<u> </u>	Sales Office	Katz Chicago, Katz Chicago (1014) Katz Chicago	Package Deal Commission %	15.00
Thematic Campaigns 111 W ILLINOIS ST CHICAGO. IL 60654-45	05	Buyer Name Phone/Fax	Embro,Corissa /	Commission	\$1,076.25
01110/100, 12 00001 10		CPE Account Types	N/A National/Political Candidate - Agency	Net Total Sales Tax	\$6,098.75
		Billing Type Comments	Calendar		

Medford ABC (KDR	-									
By Calendar Month		<u>Rate</u>								
May. 2024	93	\$7,175.00								
Grand Total:	93	\$7,175.00								

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr	Sa S	u Spots	Rate	Total	Station	Comments	Entered
42.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	11P- 11:30P (PST)		2							\$55.00	\$110.00	Medford ABC (KDRV)	Late News	5/14/24
43.0	Normal Line / SPOT	05/19/24-05/19/24	5	:30	11P- 11:30P (PST)							2	2 :	\$50.00	\$100.00	Medford ABC (KDRV)	Late News	5/14/24
44.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	12:37A- 1:06A (PST)	2			Х	Х	Х			\$10.00	\$20.00	Medford ABC (KDRV)	Nightline	5/14/24
45.0	Normal Line / SPOT	05/15/24-05/17/24	5	:30	11:35P- 12:37A (PST)				1	1	1			\$20.00	\$60.00	Medford ABC (KDRV)	Jimmy Kimmel	5/14/24
46.0	Normal Line / SPOT	05/20/24-05/20/24	5	:30	11:35P- 12:37A (PST)		1							1 \$20.00	\$20.00	Medford ABC (KDRV)	Jimmy Kimmel	5/14/24
(70				CON	FIF	RM	ΑT	101	V (CO	NT	RAC	CT				
Accepted	-Agency/Advertiser:			Date:	Accepted-St	ation:								Date:	Comments:			
) eppeage		5	5/14/202	24 KDRV/k	KDKI	=							5/14/2024				

KDRV/KDKF does not discriminate in the sale of advertising time and will not accept advertising that is placed with the intent to discriminate on the basis of race, ethnicity or gender.